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1. W abEREE{La+b,a)= {O,E,b} U b-a=
a
[EX] 2

HEE{1,0+b,a}= {O,S,b} , a NABREAEER 0, FTbh a#20, a+b=0, Bl a=-b,

b
A —=-1, b=1,#k a=-1, b=1,M] b-a=2.
a

2. Bugesr A={x|y=x+1+log,(3-x)}, B={x|a—2<x<2a-1}.

(1) #Fa=1, RANB;

(2) #Bc A, RamBEER.

[££] (D {x|-1<x<1L}; (2) 1<a<?2#ia<-1

[fg#T]

(73471

(D) S AFB FR ANB; (2) %t B 4 FiF IS, RiEBc ABEIRER,
A B 7.

| QES

(D mEEA={X|-1<x<3},B={x|-1<x<1},

el ANB ={x|-1<x<1}.

(2) %2a-1>a-2, Ba>-1n, B=g

a>-1
FHABc A, fibl¢-1<a-2,..1<a<?2.
3>2a-1

M2a-1<a-2, a<-1rf, B=¢, LB cA.

gZib: apyUEIEE Al<a<28ia<-1.
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